170000 cm? = |m?

@1 @17 @1 @017 ® 1700

10000 cm? = 1 m?
170000 cm? = 17 m?
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O 0.001km? @ 10ha @100a

@ 100000m? ® 1000000cm?
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= 100m x 100m = 10000m?
10000m? = 100a = 1ha = 0.01km?
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3. [ Rl oz 4t 2 AL n2Ae.
@0.9hab:|:|m2 @ 600m?2 :Da
® 1.7t =] Jkg @ 80000kg =[ Jt

® 60ha=] |a

B

@ 9000
@ 6

® 1700
@ 80
® 6000
- O
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- 5000g = Dkg
-4t =Qkg

- 900ke = Bt
14t =D@g
-0.12t = @kg

@ 5 @ 4000 ® 0.9
@ 1400000 ®n2

1kg =1000g, 1t = 1000kg
® 0.12t = 120kg
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(BE A9 £)=3+4+7=14
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@® 2km? = 20000a @ 6ha = 60000 m?
@40 km? = 400 ha @ 500 ha = 5 km?

® 70000m? = 7ha

® 40km? = 4000 ha




9. the FNA ol g 2 AL ok AU

D 0.04 km? @ 0.4ha ® 400a
@400000 m?2 ® 4ha

B

= e w9z 1AA vlas Hytt
@ 0.04km? = 4ha

® 400a = 4 ha

@ 400000 m? = 4000a = 40 ha




10. kg Fol A Wolrt 7b 2 2L olu AR

D 0.02km? @ 0.2ha 3)2000a

@ 20000 m? ® 2ha

B

T 22 &9= 1AM v
@ 0.02km? = 2ha
® 2000a = 20 ha
@ 20000 m? = 200a = 2ha

o Bt




11. o5 FoA 7 W2 A2 ol AJA =2,

® 100m? @10000a @ 0.1km?
@ 1ha ® 10m x 100m

&8

oo &9 E BT m? 2 HHLH,
@ 100m?

@ 10000a = 1000000 m?

® 0.1km? = 100000 m?

@ 1ha = 10000 m?

® 10m x 100 m = 1000 m?
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D 0.75km? @ 100m x 4000 cm
@80000a @ 25ha

® 100 m x 3000 cm

B

T 2o w92 1A A vt
@ 0.75km? = 75ha

@ 100m x 4000 cm = 4000 m2 = 0.4 ha
3 80000a = 800 ha,

@ 25ha

® 100m x 3000 cm = 3000 m? = 0.3 ha
B>0>@®>20>06




@ 56000000g = 56t

@ 380000g + 0.063t = 443 kg
@3.5t + 820kg = 1170 kg

@ 0.7t 2 70g 2] 10000 HiolT}.

® 380kg + 4200 g = 380.42kg

1t = 1000 kg = 1000000 g
@ 3.5t + 820 kg = 3500 kg + 820 kg = 4320 kg




14.

A&t 7120 7122 ZAdte] %5t B
71 20] uht o Y&

AZE | ed | ed | % | oF

44 | 1041 | 44 | 104
Ag | 19°C | 24°C | 25°C | 19°C
A71= | 16°C | 21°C | 25°C | 17°C

@)A7N%71 200 H By
@ 7717} 5°C o U,
® #A7|=7}5°C ¢ &5yt
@ Ago] 2°C o W,
® Ago] 5°C o Bt

B

(B = (=9 A+ (A=) 7H5)
Mo Wt 7] 87 +4 =21.75 °C
A7Zol W 7|2 1 79+4=19.75 °C
w2tA A7127t 2°CcH BE Yt




N4 ed [ ed | eF | % | oF
34| 8A | 1A | 64 | 114
%% | 18°C | 22°C | 28°C | 23°C | 19°C
%% | 16°C | 21°C | 27°C | 22°C | 18°C
O 5ol 1°C 9 =5yt
@ 5ol 2°C ¥ w54t
® &z

7k 1ec H g,
@)%zt 12°0 5 £5U

£27}2°C o &,

(529 G 7]-2)= (18 + 22 + 28 + 23 + 19) = 5 = 22(°C)
(A9 Bt 7]2)= (16 + 21 + 27 + 22 + 18) + 5 = 20.8(°C)
(EF=9] ¥ 712)- (

- (AT Bt 7]2)=22-20.8 = 1.2(°C)
59 Bt 7| 2HH.2°C B E5UT




